Name:

Missing Aliens

Class:

Fill in the missing numbers

3,125 +

6,765 +

5,345 +

1,542 +

4,001 +

3,675+

2,546 +

7,880 +

3,771 +

= 4,000

= 7,000

= 6,000

= 2,000

= 5,000

= 4,000

= 3,000

= 8,000

= 4,000

copyright:

8,009 +

2,550 +

1,250+

6,500 +

8,990 +

4,444 +
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= 9,000

= 3,000

= 2,000

= 7,000

= 9,000

= 5,000



3,125 +

6,765 +

5,345 +

1,542 +

4,001 +

3,675 +

2,546 +

7,880 +

3,771 +

875

235

655

458

999

325

454

120

229

Answers

= 4,000

= 7,000

= 6,000

= 2,000

= 5,000

= 4,000

= 3,000

= 8,000

= 4,000

8,009 +

2,550 +

1,250+

6,500 +

8,990 +

4,444 +

991

450

750

500

10

356

= 9,000

= 3,000

= 2,000

= 7,000

= 9,000

= 5,000



